THET A K 5 | BKE | AEHE BXE AR ik
=5 EHRERA T = 3 10 H 2,613. 00
=7 ERERARRT| )= 3 11 FH 3, 075. 00
=5 EHRER AT = 3 12 H 3, 078. 00
=7 ERERARRT| )= 3 13 FH 2,976. 00
=5 EHRERA T = 3 14 H 3, 034. 00
=7 ERERE SRR )= 3 15 FH 2, 984. 00
=5 ERRRATEAT = 4 8 H 1, 568. 00
=5 L RRERnT| ()= 4 9 g5} 2,051. 00
=5 ERRRATEAT = 4 10 H 2, 772. 00
=5 L RRERnT| ()= 4 11 g5} 1, 838. 00
=5 ERRRATEAT = 4 12 H 1, 185. 00
=5 LR RRE R ()= 4 13 g5} 2, 103. 00
=5 ERRRATEAT = 4 14 1 H 1, 055. 00
=5 L RRE R ()= 4 14 2 F 1, 000. 00
=5 ERRRATET = 9 18 H 2, 165. 00
— 5 LR RRE R ()= 9 19 g5} 2,994. 00
=5 ERRRATET = 9 20 H 2, 989. 00
=5 ERERA RN )= 9 21 1 H 2, 600. 00
=5 EHRRE T = 9 21 2 i 427.00
=5 ERERAE RN )= 9 22 i 2, 960. 00
=5 EHRRE T = 9 23 H 1, 205. 00
=5 ERERAE RN )= 9 24 i 1, 807. 00
=5 EHRRE T = 9 25 H 1,016. 00
=5 ERERA RN )= 9 26 1 H 1, 650. 00
=5 EHRRA T = 9 26 2 i 382. 00
=5 ERERAE RN )= 9 27 i 1, 488. 00
=5 EHRRA T = 11 22 H 1, 402. 00
=5 ERERA RN = 11 23 i 2,992. 00
=5 R RREpRnT| ()R 11 24 a5} 3,017.00
=5 B ERA RN = 11 25 i 2, 965. 00
=5 EHRREpenT| ()R 11 26 a5} 3, 026. 00
=5 ERERA RN = 11 27 i 3, 005. 00
=5 R EREpenT| ()R 11 28 a5} 2, 952. 00
=5 ERERA RN )= 11 29 i 2, 685. 00
=5 R EREpenT| ()R 13 17 a5} 2, 196. 00
=5 ERERA RN )= 13 18 i 1, 490. 00
=5 R EREpenT| ()R 13 19 1 i 730. 00
=5 EHRERA ET| = 13 19 2 H 720. 00
=5 L RRE R ()R 13 19 3 i 40. 00
=5 EHRERAET| = 13 20 H 3, 006. 00
=5 L RRE R ()R 13 21 FH 3, 022. 00
=5 EHRERAET| = 13 22 H 3, 003. 00
=5 L RRE R ()R 13 23 FH 2, 873. 00
=5 EHRERAET| = 13 24 1 H 1, 200. 00
=5 L RRE R ()R 13 24 2 i 1, 509. 00
=5 EHRERART| = 27 17 1 H 2, 168. 00
=5 L RRE R ()R 27 18 FH 2,994. 00
=5 EHRERAET| = 27 19 H 2,997. 00
=7 ERERE ST )= 27 20 1 H 1, 800. 00
=5 EHRERA T = 27 20 2 H 1, 258. 00
=7 ERERE ST = 27 21 1 H 2, 164. 00
=5 EHRERA T = 27 21 2 H 773. 00
=7 ERERE ST = 27 22 FH 2, 238. 00
=5 EHRERA T = 27 23 H 2, 835. 00




=5 B R = 32 22 H 2,014. 00
=7 ERERE SRR )= 32 23 FH 2,591. 00
=5 EHRERA T = 32 24 H 2, 640. 00
=7 ERERE SRR )= 32 25 FH 2,574. 00
=5 EHRERA T = 32 26 H 3, 240. 00
=7 ERERE ST )= 31 20 FH 570. 00
=5 EHRERA T = 31 20 H 1,712.00
=7 ERERE ST )= 31 21 FH 3, 060. 00
=5 BT = 31 22 H 3, 035. 00
— 5 LR RREpRnT| ()= 31 23 g5} 3, 074. 00
=5 BT = 31 24 H 2, 856. 00
— 5 L RRE R ()= 31 25 g5} 1, 801. 00
=5 B Rt = 31 26 H 685. 00
— 5 L RRE R ()= 31 31 g5} 776. 00
=5 B Rt = 31 31 H 203. 00
— 5 L RREpRnT| ()= 31 32 g5} 1, 216. 00
=5 BT = 31 33 H 1, 289. 00
— 5 L RRE R ()= 31 34 g5} 541. 00
=5 EHRRA T = 31 35 H 829. 00
=5 ERERA RN )= 41 3 i 1, 882. 00
=5 R RRA T = 41 4 H 2,671.00
=5 ERERA RN )= 41 5 i 1, 135. 00
=5 EHRRA T = 41 6 H 2,927. 00
=5 ERERA RN )= 41 7 i 3, 018. 00
=5 EHRRA T = 41 8 H 2,957. 00
=5 ERERAE RN )= 41 9 i 2, 445. 00
=5 EHRRA T = 17 2 H 2, 409. 00
=5 ERERAE RN )= 17 5 i 2,214. 00
=5 EHRRE T = 17 8 H 2, 253. 00
=5 ERERA RN = 17 9 i 2,419. 00
=5 R RREpenT| ()R 17 10 a5} 2, 062. 00
=5 ERERA RN = 17 10 i 550. 00
=5 R RREpRnT| ()R 25 24 a5} 1, 003. 00
=5 ERERA RN = 25 25 i 1, 462. 00
=5 R RREpRnT| ()R 25 26 a5} 1,978. 00
=5 ERERA RN = 25 27 i 2, 486. 00
=5 R RREpRnT| ()R 25 28 a5} 3, 064. 00
=5 B ERA RN = 25 29 i 3, 839. 00
=5 EHRREpenT| ()R 39 18 a5} 2,631. 00
=5 EHRERAET| = 39 19 H 3,019. 00
=5 L RRE R ()R 39 20 FH 2, 786. 00
=5 EHRERAET| = 39 21 H 1, 860. 00
=5 L RRE R ()R 39 25 FH 1, 306. 00
=5 EHRERAET| = 17 7 H 742. 00
=5 L RRE R ()R 17 18 FH 599. 00
=5 EHRERART| = 17 19 H 1, 038. 00
=5 L RRE R ()R 17 20 FH 2, 262. 00
=5 BT = 17 21 H 3, 462. 00
=5 L RRE R ()R 39 27 FH 603. 00
=5 EHRER AT = 39 28 H 591. 00




